) A O

FERk24F 4B KIRIE

=: BB B

AO 61,898 61,899 A 1
(61,259) (61,256) 3
B 30,961 30,956 5
(30,661) (30,657) 4

p's 30,937 30,943 A 6

(30,598) (30,599) A 1

g2 23,307 23,292 15
(23,049) (23,030) 19

LFERIFERERSIRAQICHBEBAZHZAQZMAI=DOD
TERF EFRERSIRAA

(BZ)NEAEHEAD 639 A

S E A B SR 510 =
NEADHDHE 258 =& }
NEAEBARANDLLHHE 252 =&




) A O

2458 KIRTFE

=Pz Bl A = d 35

A0 61,957 61,898 59
(61,304) (61,259) 45

B 30,994 30,961 33
(30,682) (30,661) 21

% 30,963 30,937 26
(30,622) (30,598) 24

R 23,351 23,307 44
(23,084) (23,049) 35

LFERIFERERSIRAQICHBEBAZHZAQZMAI=DOD
TERF EFRERSIRAA

(BZ)NEAEHEAD 6953 A

SV E N B SR 5L 521 &
SELA O ) 15 267 it e }
NEAEBARANDLLHHE 254 =&




) A O

R4 6 B RIRTE
=Pz Bl A = d 35
A0 62,023 61,957 66
(61,346) (61,304) 42
B 31,047 30,994 53
(30,714) (30,682) 32
% 30,976 30,963 13
(30,632) (30,622) 10
R 23,429 23,351 78
(23,137) (23,084) 53

LFERIFERERSIRAQICHBEBAZHZAQZMAI=DOD
TERF EFRERSIRAA

(BZ)NEAEHEAD 677 A

SV E N B SR 5L 543 &
SELA O ) 15 292 it e }
NEAEBARANDLLHHE 251 =&




) A O

ERk245F 7B RIRE

A Bii A LB

AL 62,061 62,023 38
(61,346)

:: 31,060 31,047 13
(30,714)

% 31,001 30,976 25
(30,632)

i 23,443 23,429 14
(23,137)

XK7A9B KYNEANBEEREL
XEADFYERERSRAQKBARA+HSHFEA

SETH FEEIIMEREAREBRAN OIZHAVE N EGA D2 Nz =50
ATH PEITEREABRA D (HARANDRH)

(2E)7H8H £TOHE ANBEELA O 672 A
A B G 539 LIRS
SNE N D I DS 289 A

HEINE B AR NS0 1A 250 THA




hd A O

ERk24FE8 A KIRTE
=Pz Bl A = d 35
= 62,144 62,061 83
2 31,113 31,060 53
£° o 31,031 31,001 30
& 23,483 23,443 40




hd A O

ERk24FE9 A KIRTFE
=Pz Bl A = d 35
= 62,158 62,144 14
2 31,123 31,113 10
£° o 31,035 31,031 4
& 23,507 23,483 24




hd A O

FER245F10A KIBE
=Pz Bl A =g 35
Ad 62,216 62,158 58
=B 31,161 31,123 38
x 31,055 31,035 20
K 23,529 23,507 22




hd A O

R4 11 AXRIBE
=Pz Bl A =g 35
62,227 62,216 11
31,179 31,161 18
31,048 31,055 A7
23,556 23,529 27




hd A O

TER24512 A KIBE
=Pz Bl A =g 35
Ad 62,236 62,227 9
=B 31,183 31,179 4
x 31,053 31,048 5
K 23,589 23,556 33




hd A O

ERk254F1 A RIRTFE
=Pz Bl A = d 35
Ad 62,285 62,236 49
B 31,201 31,183 18
x 31,084 31,053 31
K 23,624 23,589 35




hd A O

ERk254F2 A KIRTFE
=Pz Bl A = d 35
Ad 62,308 62,285 23
B 31,230 31,201 29
x 31,078 31,084 A6
K 23,666 23,624 42




hd A O

FERk25F3H KIRTFE
=Pz Bl A = d 35
Ad 62,386 62,308 78
B 31,260 31,230 30
x 31,126 31,078 48
K 23,742 23,666 76




